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Jod0o0dododododododod Asisillustrated by
the figure/percentage in the tablel] graph/pie/chartl], [0 0O

[] has been on rise/decreasel] dramatically/steadily
rising/decreasing from__ [0 O] in_[000O] to [0
O] in[O 0] .Judging from the sharp/marked decline/

rise in the chart, we may conclude that . At least three
sound reasons can be identified to account for . In the first
place, . In the second place, can be attributed to
the fact that . In addition, Is also responsible for

. From all those reasons given above, we can predict that the
trend will continue for long, if no effective measures are taken.
Therefore, itiscrucialthat [J OO OO O0O]  takeevery
effort to 00000 Employment Problem of College
Graduates Year 2002 2003(Estimated) 2004(Estimated) Number of
Unemployed Graduates 380,000 420,000 500,000 100 00 1 20021
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OO0 0O Asisdemonstrated in the table, Several factors can be
identified to account for this phenomenon/problem. In the first



place, LI In the second place, [I The last but not the least,[1 Serious
as the problem appears, we can still come up with practical measures
to tackle it. Firstly, the government can [ On the part of graduates,
they should adjust their attitudes towards Oooooon
J100000A00000XODODOOOOXd ooo g
Jo0oOXOoOoooooXgdooo couodod some
people are in favor of X. According to them, [0 O 0O O] [ They
also maintainthat [0 O O O] [ By striking contrast, some
others stand on a different ground. They argue that X is
____[harmful] . Meanwhile, they pointoutthat [0 U0 O O [
[0 ]Forinstance,  [0J ] __ . Thereissome truth in both
arguments. But I think the advantages of X overweigh its
disadvantages. In addition to the above-mentioned negative effects it
might bring about, X alsomay [X O 0O O O O O ] What we
should do is to make use of the favorable effects and manage to avoid
the negative effects. 200 DO OO AD OO OOOOO BO OO
000000 Some people argue that (L U U 00 ) By saying
that,theymean U 0O O O 0O O O O O O O An example they have
presented isthat LI OO [J OO O O . There might be some truth in their
belief. However, if we explore this in depth, we can conclude that (LI
OO0000000O). Anumber of reasons can be identified as
theproofof mybelief. (U U OO O OO0O0OOOOO)O 30 O
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0 O 0O OO Recently, there has been a growing concern among the
publicover(XXX).U OO OO/OOO@UOOODOOOOO




00O 0O 00O O) There are a couple of reasons accounting for this
problem/phenomenon. (U O OO OO OOOOO OO O) Xhas
generated substantial impact on the society and our social life, to be
lllustrated in the following aspects. (U O O OO0 O 0O 0O O 0O O)O
A dozen of measures are supposed to take to prevent X from doing
moreharm. [U 0D 0 O0O0OO(ODODOOO0OOOOOOO)4
0000000 Nowadays, there is a widespread concern over

[ the issue thatll [0 [0 0O [ . In fact, there are both
advantages and disadvantagesin _ [1 [1 [J [J . Generally
speaking, it is widely believed there are several positive aspects as
follows. Firstly, [0 [ Andsecondly  0O0oood
However, [Topic] __ iswithout its own limitations and therefore
have negative aspects. To beginwith, 1 [ [ In
addition, 0000 . To sum up, we should try to bring
theadvantagesof [0 O 0O intofull play, and reduce the
disadvantages to the minimum at the same time. In that case, we will
definitely make a better use of the  topic_ . 100Test O I [ [
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